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Fifth S emes te r B. E. D egree Exa min atriqffiE-b bc.2023 / J an.202 4
Automotive Trans nli5s ionAutomotive Transm'i5sion

,*.
Time: 3 hrs. t*''t '

*''d'J *'"-'''"1#u*' 

Marks:

Note: Answer any FIVE full questions, ffi,piflig ONE full question{Nary each module.

tY) lralutrurr. -_ i . (r(
b. Explain with graphs tlfa,$arious resistances offeredl$ a vehicle in moving condition.

a. Explain the following terms: ,#=T- *'q;iM
i) Gradability [. .' ' 3*r ""

ii) Tractive effort
iii) Draw barpull ,,;i,. ;# 

s 
*.Jlln"

iv) Traction. .- " (10 Marks)

,,,.,t''.,-.',,,,','" (10 Marks)

OR
2 a. Exnlain,,]_hefoditruction and working of Esnstant mesh gear box with a line orurruto 

Marks)
b. A slidiildmesh type of gear box"1q,*h forward speeds o"$-h6,is to be designed. The gear box

shou'@have the following gea&4los available appro*iihdtely : 1.0, 1.5,2.5 and 3.9. The
centre distance between the layshdft and the matlpha :.i'3 78mm and thp smallest gear is to
have at least l6 teeth with a diametral pitch of 3.25mm Calculate thermrmber of teeth of the
various gears and the exa€ffiar ratios thus availhhld. '," 

*l (10 Marks)

",'""''''''' rvroa*i:ifu*' 'u,*.'*
3 a. Describe workil*'of a single plate clutc$ tlffin tne help of a"i{lfiiam. (10 Marks)

b. Discuss operatffiffifollowing with fuch : Ylb. Discuss operation of following with sketch : '

D Electroiiifldnetic clutch t,,.,1, '' &, ,fl

il) Vacuum operated clutch.6s-_ *.***i* (10 Marks)

:;.:t::-"':t t"t;; t''* 
{ 

'*;*nj't.',, "' " p OR :1''r
,1r,,,rltr:,i .,,,*.. {,d

4 a. Write short notes on followingi
i) Percentage slip

,,,,.r; ,11i; Ball and rqllgi,,iifie-way clutches. (I0 Marks)

b. '' A multiplate clutch is to be desigrted for a motor cycle whose engine develops maximum
torque of l3Nmit 3500rpm. The e*teinal diameter of the clutch facings is limited to l00mm
and the innerd,iameter may be assurired to be 0.2 times the external diameter. The maximum
intensity of pressure may be taken as 80kPa and p:0.3. Calculate the number of plates.

: ::::::::ii;i:]:iini!

''",,,r Module-3
Describe the workingbf Wilson Planetary transmission with suitable figure.
Discuss the pre*olhetive mechanism with suitable figure.
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